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Jor the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :

wore FRAPTEE ow Seah! AR Sfted : s b

(@ IfA={2 4}andB={2 3, 4, 5}, then find
It A={2 4} WF B=(2 3 4,5 H, O©
et
) AoB
(i) AUB
(i) Ac B
(iv) AnhB
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(3)

(2)
(b) Y= bQ :
1s a/an (e) An example of discontinuous function is
Y = b? Tzeg oy
3 fafbes e @b TIZT R
Y constant funct:
7 o ( aeaon (i) rectangular hyperbolic function
e SRR SO TqE T
T2l T gt ; . ;
74l Feqe (i) quadratic function-
(i) singular function fagre T
G527 Ferey ; ;
(iv) (iii) cubic function
€Xponential function faars T
ORI Fore]
(iv) polynomial function
T2 Tl

n— .

o A

n
: 1
M r}l_l,nw i 0, (5¢3 lim ( _n_ﬂ) rors () Differentiation of capital w.r.t. time is
n —os n
i o qﬁmwwwﬁrﬁcwm
(@) 1 (i) gross capital
2zzj oo ;Ib Y
v) n
(i) marginal capital
(d) IfY=f()=b then lim is I8 T
?]ﬁ V- x> M
=f(d =b, B lim = (i) investment
i) b Xy M Rfercmat
(i) M
e : (iv) time path
(iv) b/ M ST 7Y
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(4) (5)

2

(@) The directi
measured SRONCRTIS (), Lcan . ibe () For maximization of Y= £, £
by A dx?
Y = f093 fe1 el 3Rq sqf should be
e 2
i) Y = f(x)3 SHRFOR I, %x—g?{’awfﬁa
(ii) 9_2_3_ i) zero
. il
(iti) _8__ (i) negative
i LLICE
(iv) dx (iii) positive
IR
(h) The tallest
representss Student in your class (iv) double the value of %xq
(R &g % dy
@ Y 3 qi=| g2
) S un: NI o dx
TR 1R T () (050 dx is equal to
(u) rEIatiVe max; b
aximum [ £ ) e 3 7T
W"Iﬁa "Tﬁé a
Ty
(i) %:solute el () [, - dx
( W M (i) [ 200 ax
v) both glob,
cwo Bl ks e i (ii) 2] ) dx
Sakith)
Rl Gl (iv) 2[; - Flx) dx
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2.
Answer the following questi
ons :

(6)

O PRI T forey

(@)

(b)

()

(d)

(e)

20A /576

S T A oy

positive. condition should be
R o

e &9
CINIF 279 191 9 R g «fRE

d &
ay
(ix ﬁ‘w W y = log 82
er
Why do
We n
term whir. - ced tq
i hile 1ntegratinga idﬁ‘;ne constant
el nction?
G M9 ey © o7 Wiy o5 w=

( Continued )
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3. Answer any four from the following
questions : 5x4=20
o 2T R P BifReR Ted feran -

(a) Distinguish between implicit function

(b)

()

licit function. Map the following

and exp
3+2=5

function :

XY =a

Define continuity of a function. State
why a function must be continuous for
it to be conformable for differentiation. 5

word  qRERTel PeE ogm? ¥
Wmaﬁwmmwﬁ@?ﬁmm

forn |

If TR = PQ, where P and Q are. price and
antity respectively, then show that
ed = ___A_I‘)—— 5
AR - MR

qu

i TR=PQ, T P WA T WE Q (R

SfRe, (98 (e &,
AR

e e e
d " AR- MR
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r.ﬂ

(d)

(e)

20A/576

(8)

Given the followin

function
) ﬁn
function - d  the

g average cost
marginal cost

”

eCeSsi

( Continued)

(9)

from the following

4. Answer any four
10x4=40

questions :

(a) For 2a function Y =logx, prove that
dy _1 Ajso find the limit of the
dx X

function : 6+4=10
2—
lim _z.’c__._zé—
x—0 x= +x-30
a6t T y =log x, @911 ¥ a E!i=l
dx x
aﬂasﬁﬂaﬂﬁmaﬁnﬁr$ﬂﬁﬁﬁ¢m:

Jy it 225
Lm = e
x—0 x* +x-30

(p) 1f the production function
Q =40L L -%L3

the employment of labour,
e of labour to give maximum
o show that if demand curve

is linear, marginal revenue is half of
average revenue at output g. 5+5=10

Q=40L+3L2—%L{
S ﬁ?}i‘e’a AR | A S

ﬂmaawrﬁﬂﬂaﬁ$ﬁﬂamﬁrfa,ﬁﬁx$m|
aﬂz@m{@m,ﬂﬁsﬁﬂ@mﬁﬁﬁmﬁm

qeq =, (O8 oS ST (xR o S
TS ‘SUS@:W Afd 2 g

where L is
find the siz
output. Als
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(c)

(d)

20A /576

( 10 )

Given the dem
and functio

and nP=(0-x)%
: the cost function ( X)
Find the maximum p, fC=55x_8xz
be the efi rofit. Wh
e fect of an lmposm at would

PET Unit on pricer on of a tax

R ¥ P=(l0

s T g
99 @il

& AR o3 9 4l
Show that A
lump sum ta;Ven after impogit ;
condition of and profit 4 oo 3
sam Ol market will quilibrium

€. Also show that i remain the

tax results lesser outpy POsition of sales
1

2, (O0F TH 87[s
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(i

(1)

(11)

The marginal revenue function is
given by MR =50-4Q. Find the
point clasticity of demand when
0 =10. 5+5=10
Sy OEE ¥ (TR MR =50-40.
BB ﬁﬁg@ﬁaﬁ@@“ﬁéxam,cm%m

0 =10.

The total cost of a firm is given by
C =5000 _15g+5g>. Find the level

of output at which the slope of

the averageé cost is zero.

qg@ FHa P 10 € =5000-15g+5g>.
@ OF "T0 2'37?

Obtain consumer’s surplus of the
following demand function, given
the market price :

Q=
when pmce—16. 3+7=10
e Tz TS oy SopceTe 98
4l :
3

= e

_ Jeo-(3]
@ﬁmpzlt’yi’“
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(12 )

(g) If the marginal revenue function for

output x is given by Mr—_ © +5
(x+2)2

find the total revenue function and

the demand function. 10

OB WA e X AR |

MR = 62+5.?{3wmwm&mm
(x+2)

ey a1

(h) For the following Production function
Q=aL® +bL? +cL +d, whay restriction
a, b, ¢ and d will follow to have a true
form of cubic Produc
Also find at what level o
total output will be maxj

tion function?
f labour (L), the
mum. 10

o8 TRAM o Q=aL® +b12 4 o1 4 g1
a, b, c ¥ dg @m«%m«ywwﬁw
TR 4 1 oo s e g
T TS R AR wfey Raarey g
%qﬁmwiﬁﬁa,ﬁﬁw,

L &3
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